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What does the length method do in
string manipulation

The length method in string
manipulation returns the number of
characters in a string.

What does the CREATE TABLE
statement do in SQL

It is used to create a database
table.

What is an example of lossless
compression

Zip files.

What are the three main Boolean
operators

The three main Boolean operators
are AND, OR, and NOT.

What is the main disadvantage of
using optical storage

Answer: The main disadvantage of

using optical storage is its relatively

low storage capacity compared to
other storage types.

What is proprietary software

Software that is released only as
executable files, where the code
has already been compiled.
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